e (2] |81 ®
61| 8 62
) ¥ Nurium Ct
4,0% < & 78|76 7 727068Téé 64
O\ 1“4
2(j1 4 16 | [18]20] 22| 24 | 26 30(32(34]136| 38| |gg|g2|84|ss|ss|o0]92
Larkspur Larkspur
LLl|
9 1135|799 n|w|B|7|w|2a|238|27]|2]3 |33]|35]|37|39|a]a3|a5]| a7
<
f—, 2|46 |8lw0|rfu]e|m(2(22f24126]28(30|32]34 (36|38 a0 a2(aafa6
D Kingsport Ave Kingsport Ave =
O
L
13|57 o|n|w|is|7|w|2|23|25]|27| 29|31 |33]|35|37|39| 4| 43]|a5]| 47
2\6,8l]°\'6|‘8 26| 28 | 30 [32]| 34| 36|38 | 20| 22 [ 44| 46
Jasmine Ave ]
asmine Ave
n\1
]\3\5\7\9\ \5\ v :F\T\%\ \29‘31 \35\37\39\41\43 45\47\49
2\ ] o\ s\o\eu v | [Slalalal =] alzlsl=le] o] =] [a]o]e
Imperial Imperial
50
1 \5\7\9\11\15\17 19 lﬂ’ 123/ 51
) % |46 !B
Tl Lol ol o) o =
2
o
Haven Ave + /47
o
¢ 1 3‘5‘7\9\“\15 7 [ Sl
< = E -
B 2 4\6\8\10\12\14\16 L 1 ols
a =
N Golf E |~ Z
39|38 |™
1\3\5\7\9 15\17
o 7| 36
2\4\6\8"J o s ]8202224262830323436381042445——35—
Fern - | — | 34
3|s 7\9 — Led | e
1 31 30 3|23 | 25 30 31 38 1, 32 T
] el ||
2\4 6\8\10 29 28 29 | 3172 28 29 | 3912 w12| 30 30
E A > [ s||Z
vergreen Ave 7 [ 2% |= T o =
olz|2| 2 ~| 7 =3 p
1131517 93 25 2% 5 o
2\ \ \8\10 2 [ |32 27| u |9 5] 7 a] m ..—':
16 Bl 25 e | 2| [ 5ls "« 2 2
Desoto Ave 2 2 |~ Evergreen Ave
1\3\5\7\9 — | 28~ 2] 2 2 |39~ 4] 2 [T
| P B [w]2 "] = 19 |38 _~| 18 NC)
2\ \ \8 7| 6 Desoto Ave
___Coach Ave TT 7 |28 ~ 25| 16 7|39~ a4 16 I
o 1\ 3a[a]s __,___‘_lsn/umhw 38~ x| u
< n r |© Coach Ave
[ :vlkv\4i\A 6 L — —{3[ n [ _~"25] 2 I ErA .
3 OXWO0O0 |ve o [0 150272 0 |8 o = o] 0 5
A 4 9 |o ¢ BoxwoodAve 5 Boxwood Ave
718 |8 8~ 25| 8 € 3%~ a| s
RV[RVRV[RV |RV RV [RY Rv;——/_' / Q" 7 / 3
5|6 5 |2_~u 6 5 38 ~w| 6 |5
Azure Ave —3— "T Azure Ave
4 | b—— 3[BT 2] 4 3|30 ~a]a 3[4
2 2 NEYZE 1 38/40 . 1] 2
S Rd SR
—| | [ o 1o 7]

Experimental Rd

Experimental Rd




